
Employment/Education and Financial (Community Scenario): #11-22 
 
“Nala” is currently working at Zippy’s for the past 7 months for 32 hours a week.   Prior to that 
she was a full-time worker at Burger King for 6 months, but quit after getting into an altercation 
with a customer at the drive thru.  Previously, she worked at Foodland for 2 years in the deli 
section.  
 
At her current job, she said that she does not get along with her boss because her boss is always 
on her back for consistently coming in late to work.  She said that she gets along with her co-
workers, is friends with some of them and hangs out with them after work.    
 
Nala admits to having issues with grades in school but no suspensions or being expelled and she 
graduated from high school without any problems.  She has plans to attend culinary school. 
 
Earlier this year, she said that she tried to apply for unemployment compensation, but was found 
not eligible.   She lives with her mother and contributes to the household rent and food.  She has 
some credit card bills, but she is not behind in any payments.  Her employer gives free monthly 
bus pass to assist employees with the cost of transportation to work.  
      
When in labor market:     
C) 11.    0    Currently unemployed     
Y) 12.    0     Frequently unemployed    
E) 13.    0     Never employed for a full year                
E) 14.    1     Ever fired         
 School or when in school: 
E) 15.    0     Less than regular grade 10     
E) 16.    0     Less than regular grade 12    
E) 17.    0     Suspended of expelled at least once   
 Homemaker, pensioner: 18 only    
 School, work, unemployed: 18, 19, 20   
C) 18.    1     Participation/Performance - [0][X][2][3]   
C) 19.    0     Peer interactions - [0][1][X][3]                        
C) 20.    1      Authority interactions - [0][X][2][3]      
  SUBTOTAL SCORE      3     /10 = (30%) 
         
FINANCIAL      
Y) 21.   0_    Problems - [0][1][X][3]    
Y) 22.   0      Reliance upon social assistance    
  SUBTOTAL SCORE     0     /2 = (0%)  
 


